

Focused on gold and silver discovery in the Americas

600 – 890 West Pender Street, Vancouver, BC V6C 1J9 Canada
Tel: 604.602.9989 Fax: 604.609.9946 E-mail: contact@mirasolresources.com
www.mirasolresources.com

Mirasol Reports Virginia Silver Project Additional Drill Results

VANCOUVER, BC, June 9, 2011. Mirasol Resources Ltd. (TSX-V: MRZ, Frankfurt: M8R) is pleased to announce the results for 15 additional drill holes from the Phase 2 diamond drilling program at its 100%-owned, Virginia Project in Santa Cruz province, Argentina. Eight of the 9 new holes reported here contain significant intercepts of silver mineralization, calculated at greater than 30 g/t cut-off grade (Table 1, Figure 1). This includes a true width intercept of 35.9 metres of 200 g/t silver including 5.7 metres of 669 g/t silver in VG-068 in Julia Central.

Silver mineralization intersected at Julia Central (Figure 2) and Naty (Figure 3) remains completely oxidized to depths tested in excess of 60 metres down dip, and as previously reported, intense oxidation is known to extend below 100 metres depth in the Julia North structure. New holes at Julia Central (holes VG- 68, 69, 70 and 71) further define a silver shoot of at least 100 metres length and 75 metres depth. Core recovery in these holes shows a marked improvement relative to earlier drilling, with all intercepts having core recoveries of 83 percent or better, and most reporting recoveries of 90 percent or better (Table 1).

Table 1. Virginia Vein Zone Drill Hole Results – Naty and Julia Central

Hole	From (m)	To (m)	Core Length (m)	True Width (m) ¹	Silver (g/t)	Silver grade x true width (g/t * m)	Core Recovery (%) ⁴		
	Naty Vein								
VG-063	92.05	92.70	0.65	0.61	662	404	100		
VG-064	80.00	83.00	3.00	2.82	201	567	100		
including	81.02	81.82	0.80	0.75	567	426	100		
Julia Central									
VG-065	21.12	25.00	3.88	2.74	71	196	98		
VG-066	no significant assays								
VG-067	75.50	79.00	3.50	2.72	35	95	97		
VG-068	64.00	105.45	41.45	35.90	200	7,167	93		
including	72.19	78.80	6.61	5.72	669	3,832	83		
VG-069	72.35	73.90	1.55	1.19	121	144	98		
and	85.00	112.00	27.00	20.68	48	998	94		
combined	72.35	112.00	39.65	30.37	43	1,306	94		
VG-070	9.64	32.00	22.36	19.36	66	1,285	87		
VG-071	86.23	99.00	12.77	9.19	66	603	96		
including	86.23	87.72	1.49	1.07	278	298	85		
and	107.50	121.00	13.50	9.71	56	546	92		
combined	86.23	121.00	34.77	25.01	51	1,266	92		

Notes: All analyses done by ALS Laboratory Group.

- 1. True widths have been estimated using cross sections of the mineralized intercepts with the geology of the drill hole and surface information and adjacent holes and cross sections.
- 2. Silver grades have not been capped and are thus "uncut".

- 3. Intercepts are calculated at a 30 g/t silver cutoff with no value given to gold or lead. "Included" intercepts are selected so as to show higher grade intervals.
- 4. Core recovery is the length weighted average of the intercept quoted.

In addition to the holes published here, Mirasol has completed another 14 infill and expansion holes on the Julia North, Julia Central and Naty veins, and 15 twin holes, and furthermore has drilled 6 holes on other previously untested vein targets elsewhere at Virginia. Assays for all of these holes are pending.

Also reported here are a series of six twin holes which were undertaken in the presence of Mirasol's drilling consultant in April, with the objective of improving core recoveries in the most challenging areas drilled up to that time (news release April 19, 2011). The twin holes were drilled with their collars sited approximately one metre behind the original hole and inclined three degrees steeper, in order to intercept the same geological structures as nearly as possible. Recoveries were greatly improved in these six holes and now range from 84 to 98 percent, which are excellent results by any standard.

Visual comparison of cores from the twin holes with the original holes with poor recovery shows that the material previously lost was soft clay matrix and fault material surrounding the mineralized quartz veins, or occurring as matrix to quartz breccia veins. The soft clay material was likely washed away during the drilling of the original holes, but through a series of technical improvements was recovered in the twin holes. Sampling of the twin holes suggests somewhat lower grades on average than in original holes. Mirasol ascribes this to a concentration effect of higher grade quartz fragments and washing away of lower grade clay material in the original holes. Thus, the twin holes with higher recovery are believed to be more representative of the in-situ geological structures and mineralization. Previously, hole VG-048 was twinned and both the twin VG-048A and original hole were reported on (news release May 12, 2011). In that case no significant change in average grades was detected when recovery was improved. It is interpreted that washing of clay fines in holes lacking quartz vein material does not produce the same concentration effect noted in the six holes with twins reported here (Table 2).

Table 2. Virginia Vein Zone Twin Hole Results

Hole	From (m)	To (m)	Core Length (m)	True Width (m) ¹	Silver (g/t)	Silver grade x true width (g/t * m)	Core Recovery (%) ⁴
VG-014A	7.00	41.00	34.00	33.48	145	4,841	95
including	20.90	25.25	4.35	4.28	581	2,488	92
VG-014 ⁵	5.00	34.00	29.00	28.56	327	9,325	69
including	18.00	24.00	6.00	5.91	1,208	7,138	17
VG-016A	20.00	47.00	27.00	23.84	136	3,232	94
including	33.85	37.20	3.35	2.96	571	1,688	95
VG-016 ⁵	18.35	45.00	26.65	23.53	319	7,500	70
including	32.00	36.00	4.00	3.53	1,627	5,745	66
VG-017A	27.00	106.90	79.90	63.81	125	7,966	98
including	37.90	44.75	6.85	5.47	912	4,992	95
including	38.85	39.45	0.60	0.47	2,990	1,433	100
VG-017 ⁵	26.00	55.00	29.00	23.16	455	10,535	73
including	31.80	42.00	10.20	8.15	1,185	9,657	75
including	35.90	36.50	0.60	0.48	11,361	5,444	71
VG-032A	23.00	60.45	37.45	28.69	131	3,745	98
including	37.25	41.60	4.35	3.33	501	1,670	94
VG-032 ⁵	22.00	57.00	35.00	26.81	175	4,680	85
including	35.10	40.30	5.20	3.98	695	2,769	39
VG-040A	15.00	66.00	51.00	47.92	86	4,098	92
including	41.00	48.70	7.70	7.24	205	1,480	84

Hole	From (m)	To (m)	Core Length (m)	True Width (m) ¹	Silver (g/t)	Silver grade x true width (g/t * m)	Core Recovery (%) ⁴
VG-040 ⁵	12.07	75.40	63.33	59.51	92	5,467	78
including	38.15	43.20	5.05	4.75	470	2,230	29
VG-043A	44.00	95.00	51.00	46.22	129	5,969	96
including	54.94	75.02	20.08	18.20	255	4,648	95
VG-043 ⁵	41.45	86.50	45.05	40.83	172	7,015	69
including	52.00	63.00	11.00	9.97	485	4,835	56

Notes: All analyses done by ALS Laboratory Group. Notes 1 through 4 are the same as for Table 1.

5. Previously published but repeated here for comparison to twin hole. Holes VG-14, 16 and 17 intervals were previously calculated using a 50 g/t cut-off, but have been recalculated here at 30 g/t cut-off for direct comparison with Phase 2 holes. Twin holes are designated by the letter "A".

Based upon this new information, Mirasol has identified all holes on the Virginia Project that may exhibit a similar combination of quartz with high grades and soft clay material, and which returned poor core recovery, and has drilled an additional 15 twin holes at Julia North, Julia Central and Naty veins to ensure the highest quality of data is available. As in the six twin holes reported here, marked improvements in recovery were the norm and the additional twin holes are currently being processed which will be reported in due course. Given that Mirasol initially selected holes with the highest grade and poorest recovery for the initial six twins, it is hoped that the second round of twin holes will show less variance than those currently reported.

In the course of drilling twin holes and additional holes at Julia North, Mirasol has discovered that the low grade halo of silver mineralization on the east side of the high grade structure can be substantially wider than previously thought. This is exemplified by VG-017A, where this twin hole was extended well to the east and produced an intercept, at a 30 g/t cut-off, of an estimated true width of 63.8 metres grading 125 g/t silver with 98 percent core recovery (Figure 4, plan view).

Recently Mirasol expanded the ground magnetic and Induced Polarization (IP) coverage at Virginia to the north and east where a stream sediment geochemical survey has indicated anomalous silver and lead values. Features showing chargeable IP responses have been identified north and northeast of the principal Julia and Naty drilling. Prospecting, rock sampling and surface mapping have also been completed in this area. Results will be reported when all information is available and interpreted.

Mirasol's management anticipates a strong flow of news from Virginia in the coming months from the Phase 2 Virginia drill campaign. The 2010-2011 southern field season has been one of tremendous advances in knowledge and understanding of the Virginia silver project. Drilling results to date have identified significant silver mineralization over substantial widths and strike lengths. The Virginia Vein zone's apparent continuity, deeply oxidized nature, and near-surface configuration, are all considered positive features that support potential for definition of significant bodies of high quality, silver mineralization that may be amenable to low cost, open cut mining techniques.

Paul G. Lhotka, Principal Geologist for Mirasol, is the Qualified Person under NI 43-101 who has approved the technical content of this news release.

For further information, contact:

Mary L. Little President and CEO

Tel: (604) 602-9989; Fax: (604) 609-9946

Email: contact@mirasolresources.com **Website:** www.mirasolresources.com

Quality Assurance/Quality Control:

Exploration at Mirasol's Projects is supervised by Stephen C. Nano, Vice President of Exploration; Timothy Heenan, Exploration Manager; and Paul Lhotka, Principal Geologist; all qualified persons under NI 43-101. All technical information for the Company's projects is obtained and reported under a formal quality assurance and quality control (QA/QC) program. Drill core, rock chip and stream sediment samples are collected under the supervision of Company geologists in accordance with standard industry practice. Samples are dispatched via commercial transport to an ISO 9001:2000-accredited laboratory in Mendoza, Argentina for analysis. Results are routinely examined by an independent geochemist to ensure laboratory performance meets required standards.

Assay results from subsurface drill core or RC drill samples may be higher, lower or similar to results obtained from surface samples.

Neither the TSX Venture Exchange nor its Regulation Services Provider (as that term is defined in the policies of the TSX Venture Exchange) accepts responsibility for the adequacy or accuracy of this release.